 SEMESTER-L (2018/2019) FINAL TERM

COURSE: BSI101 (ISLAMIC STUDIES)

o

Translate the following Had'a in Urdu/English with a short commentary, (CLO1)
i rﬁ-!-' #Ye o315 Al St 6
*

Write a short note on Misaq e Madina. (CLO1)
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DEPARTENT OF CNn. E*GINEERI
Final Term Exam Fall -2018

1% Semester BSI-110 Pakistan Studies

(Note: Attempt all questions.)

%.' Summanze the |mportance of objective resolutlon (1949).

- &%: Describe the nmportance of 18" and 19" Amendment in the constitute of .

L O’) U\,c, ._Q)\M G-A/Q) ) U“_éaﬂ \q“ 2s) [2“" (c;_@g*"

q‘ ’%3 r,,Explam the assassination of Liagat Ali Khan, knowing the causes and tl

‘i

A the Cabmet of Khwa;a Nazimuddin |n 1953.

,)’J(Pl;(o; /\_,‘aaf) k_n(n/"' U(o&ﬁ" w W (3-'/43
| c@;ennfy the objectnve of foreign pohcy of Pakistan, also explain the rece

y Pfg Imran Khan and other institutions of Pakistan. (CWf'!p, ‘

3:»))")’*" Ub U/‘A (d/“”’ MC"” o W‘\ﬁ@/lé :
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~ Note: Attempt all questions. No reference material is allowed. ﬁs_e,. ?
strictly prohibited in examination hall. ¥
Question No.1

a) The ball D has a mass of 20 kg. If a force of F= 100 N is applied hori:
at A, determine the dimension d so that the force in cable AC is zero.(fi;

o | b) Compare the force exerted on the toe and heel of 120 lbs woman when sh
regular shoes and stiletto heels. Assume all her weight is placed on one f{
reaction occur at points A and B as shown in figure 2.

Question No.2

load and the forearm have masses of 2 kg and 1.2 kg, respectively, and their c
mass are located at G, and G, determine the force developed in the biceps CD 2
horizontal and vertical components of reaction at the elbow joint B. The
supportmg system can be modeled as the structural system shown in the ﬁgur

Ay

landmg gear as shown in ﬁgure 4, Detel mine the horizontal and vertical co
reaction at the pin C and the force in strut AB.

(s Quén No. 3 |

a) Determine the force in each member of the truss shown in figure 5 an
~ members are in tension or compression. Set P1 =240 1b, P2 =100 Ib.
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Figure 6

Figure 5
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the world. {CLO 01, C-1, PLO 06}
Recall the objectives of getting Pakistan critically.
{CLO 01, C-1, PLO 06}

ok Question No 3. Summarize the contribution of sheikh Ahmad sirhindi and Shah
Ullah as a great reformists in Sub continent. {CLO 02, C-5, PL(

Explain all India Muslim League (1906), Lucknow Pact 1916 n
report 1928. {CLO02,C-5,PLOO6}
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% Auempt all O.uestlons i

preferred meth
itten communicatior

(CLO1, PLO 10)

written commumcatnon is a

~ Q1: In many cases
d benefits of Seven C’s” in wrl

Describe the uses an

st verbal and non-verbal communication and glve

Q2: Compare and contrast
ctice in communication?

your favorite medium to pra
(CLO2, PLO 10)

man of Civil Engineering Departme'

Q3: Consider yourself as a chair
loyees about change in the venue ¢

memorandum “informing all the emp

seminar”
(CLO3, PLO 10)

-

S.

*

Q4 List 1 the uses and differences between the followmg with example
_Denotive words and Connotative words.
-Encoding and Decoding. : )

_Downward and Upward communication.
(CLO1, PLO 1
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ict prohlblted in examination hall.
~ Question No. B
- a) Identify different effects of the force applied at point A in given f
answer clearly differentiating engineering mechanics study from mecha
@101, Cl. PLO 1) s
b) Name different types of coplanar force systems. (CLOI1, C1, PLO1)
¢) Illustrate Varignon’s theorem by a sample problem shown in figure 2.
moment center. (CLO2, C2, PLO1) :

acts on the body ‘ahown m ~ﬁ M‘ :
; v' W" & G e o
e magmtude of the resultant force acting on the bracket shown in ﬁgm‘i

Ibs directed along the u axis, determine the magnitude of F and its direction 6. &

 + Question No. 3 (CLO3, (
a) In Figure 5, find the y co-ordinate of point A so that the 361-lb force wil
clockwise moment of 400 ft-Ib about O. Also determine the X and Y inter
action line of the force.
b) Show an equivalent effect of force system given in figure 6 at point O, T
pounds. %

~ Question No. 4
~ a) A vertical force P at A and another vertical force F at 8 in Figure 7 prog

of 100 1bs down at D and a counter clockwise couple C of 200 1b- ft-
and direction of force P and F.

) The Howe truss shown m figure 8 carries the glven Joads.
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§ A
Q1 Use the substitut; :
ution scheme and the matrix A=I1 1 2 | with inverse matrix
S B,
L1 R
B2 |
b
& (&) Code the message SEND HiM MONEY. g N
/ (b) Decode the message 67 44 41 49 39 19 113 76 62 104 69 55 8)
Q2. (a)Finda plane that passes through the point (2,4,-3) and is parallel to the plane
—2x+4y—5z+6=0. 6)‘
S s (b) Identify whether the following subset of R* is a subspace of R* 6) t
The set of all vectors of the form (@,b,c,d), where c=a+2b,d = a—3, o

e

Q3. (a) Defi

>

ne (i) linearly dependent and linearly independent vectors in a vector space

(ii) Basis and Dimension for a vector space
(b) Find a basis and dimension of the subspace W of

the form ar® + bt +c, where c=a—p,

4. (a) Determine the eigenvalues, eigenvectors and dimension of eigenspace assqg!ataiﬁ},.

- smallest eigenvalue of the matrix
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a) Define thegfollowing terms.

(i) Probability vector (ii) Regular Markov process

b) A study has determined that the occupation of a boy as an aﬁu d
upen the occupation of his father and is given by the following transitior
matrix (Markov Matrix), where P = professional, F = farmer, and L= labo

Father’s occupation

i 08 03 02

DON S

S s 0 @)
occupation

B 0:1/#0.2 . 0.6

"'Lh-:—-———‘—..‘,.h_.,_ i

~ Thus the probability that son of a professnonal will also be a pr
is 0.8 and so on.

" i) What is probability that the grandchild of a professional will also be a
professional?

In the long run, what proportions of the population will farmers? :

Scanned with CamScanner



